HAYYUM U3OBPETATD
BYAYLIEE

MexaHn4YecKm MOnoT

UHCTpYKLUMA No c6opke



HAYYUM U3OBPETATb
BYAYLLUEE

NMepeyeHb peTtanen

Ha3sBaHue petanm N306pakeHne KonwuuyecTBo (WIT.)

[MnacTtnHa 1x5 S 3

MnacTtnHa 1x11 4
[MnacTtmHa 5x11 1
Yron nnockum 90° 5x5 2
Yron (1.1)x3 2
Yron (1_1)x5 2
M4x8

BUHT M4x8 €d 20
BuHT M4x16 3

HasBaHue getanu

BUHT M4x25

Manka M4 pnaHueBadq

MaKka M4 cTonopHas

LLlanba HennoHoBas

Konbuo 3.4 MM

Konbuo 5 MM

TRIK

N306pakeHne KonunyectBo (WT.)

24



TRIK

HAYYUM U3OBPETATb

BYAYLLUEE

@)

M4x8

4X

4X

4X




::Ay;lll::;EM3OBPETATb TRIK

4 N\
2 LS
S
3X Tx x
9 Ix 7X 2X 2X TIx 3x )




TRIK

HAYYUM U3OBPETATb

BYAYLLEE
. ~
3 <3 U™ T
=3 YY) e\ @
2 N SN
G 22
1x 1x R x
M4x8 @
‘b & 8
L 5X '|X 5X -|X J




::Ay;lll::;EM3OBPETATb TRIK

4 M4x8 »
> &

4X 4X

7
1 \ ~
N »
VRSl ) i) a2
i\ ‘| HOILANT JQ =R
NI @3\}\};\%\. S %\Q\-‘\
S g ) T ' SO
@ @ C@O\é‘ @ @\)\' ‘ 7’"{\ ‘ Q
=7 SN
= N AN
NS
/



HAYYUM U3OBPETATD
BYAYLIEE

@ @ o trikset trikset.com support@trikset.com


https://trikset.com
mailto:support@trikset.com

